e AR,

Zemimn@,

24%{ %Da,léfcr Q; podziel x na s wgn//c — X1
reszie. Qoy X, i T Xg —wWynik; 0y - meszfa;

it SRarane G nag

2|19 =z 5
2|9 =T a=1
T UM s
22 4 S=1rg o=l ey =0
2222|150 =4 Z2m a3 =0 3

<20 ' 1T 5=Ts 04 =1

Tl ' S

ufumk

01'2_1+az-2—2+03-2'3+---=z

i g (.0.10.20.3 .)2 = (27)10 o

s x=; pazdoo. ¢ Tnt (2X,) 2 o, (czgst wflooh
Rroc () 2 X, '-(czgslc wlamkone. ) |
xo 2 frac (2¥2) 5> 0 € Tnh(2m) oo
Foykfad 0 X :@. 538125 )40
B)o= I0)g, , Xa= OSFEALS

e

2z) =1.15625 x5 =0.15625 a=1
2zy = 0.3125 z3 = 0.3125 a2’ =04 TS s S

!{ 2x3 = 0.625 z4 = 0.625 a3 =0 | —> (5.578125);0 = (101.100101); /-1

r: 234‘:1.25 , .7:5=0.25 a4=1 g St i S e __’
e 2zs = 0.5 - z6 =0.5 a5=0

T 27 =10 . Zo=0 ag =1

i S

—— e

o= omonmionia 5, (dobaong)o-> (ildiozng Jo




